Dividing by 9

se the long division method to divide th llowing without remainders
Bl 9= 54|+ 9 =
108 + 9 = 99|+ 9 =
EiSiat) = 721=9 =
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Use the long division method to divide the following without remainders.
81 = 9= d. 54+ 9 =
¢ ("
9 1 9| §4
1 - 54
0 0
S0, 81+9=9 So/54 +90=6
108 + 9 = e, 99:9-=
12 11
9] 108 9] 99
1 9l 1 gl
18 09
18 So,108 + 9 =12 9 S0,/99 +9=1]
0 0
Z6|- 9 = f 72=-9 =
4 8
9| %6 9| 712
36 Zl2
0O (@)
S0, 36+9=4 0/72+9=8

© http://mathskills4kids.com




	09_dividing-by-nine_bblli-01
	09_dividing-by-nine_bblli-02

